RGPVonline.com

|

RGPVonline.com

- ( Iln\ %, gL
L ,: N q N
o JJE WAL, Note:
hotifhitdsminimal! Couhter-
A it IO .‘ﬁu’, Pty

A 1

=

== n
S

L_I-uli_.ul__l _

'l'..

.II" llI:l‘:l -3 T |-

. u—-:.“.. =
- o = - ' a)

o b) A2




RGPVonline.com

.

144

by

Wl

by

1"

b)

a)
b)

AWhat oy thie haste PooLcdlre in serung P 3 humengad 4

What - meant by o lumped capacity? What ane the phyvsicat )
assurmplions necessany Toe a lumpod-capacity uns:;md\ .

wHuhon to e o= direr senai conduction problem™”

stale analy sy o appiy
IR

What sl condinon. are imposed on the trapssee!

~olubsens an a tee o hinder suddenly exposed -

. K|
vanveclion ! -

1escribe hinw one-dimensiopal tansient sofuttons may by
usedd for solution of o and three-dimensional problem:

b)

Whist s the Dittas-Boelter equation? When does itapplh

A semi-intinite slab ot copper 15 exposed to a conatan
heat (ux w the surfiuce of 0.5 MW/m®, Assume that the
shib iy inon vacuuny, so that there 18 no convection atthy
surtace. What s the surface temperiture atter S vunt
the mitind temperature of the stab is 20°C7 What o the
teruperatiire at a distance of VS e from the sarbac
after S ™

OR
Explain Shape-factor algebra for open ends of eylinnler

Water ot an average temperature of 300 K lows at i 7 ke -
ina 2.5 cm-diameter tube 6 m long. The pressure drop:
measured as 2 kPa. A constant heat flux ts imposed, and
the average wall temperature is 35°C. Estimate the vail
temperature of the water.

.b) Water at the rate

(B3

e ceos val analoR when move Ve 6
.ol ed 10 heal exchange. ;
ek walls, Lm wide form on ool
Three oarsiled plack wal ¢ b A1 OqiH
e (e wall 15 held at 400 K, one s at 300K
e th lated Find Qw-m and the tEnporatingy

ooy T

tiwe thund s 1zeske
the [hzrd wall
OR

A il diuneter heater ccnlcrt(_l in o large cylindrigh A
mdiation shigld, Phsenss the refative IMponance of the =&
emittantce of the shield during specular and diffuse ®
radstion, :

Twa parnllel disks. 50 ¢ in diameter, are separated by B
distanee of 12.5 cm and enclosed by & large room at 300 K.
One disk is maintained 4l g constant lMperature of 8‘00°.C
and hus un emissivity of € = 0.8. The other disk 18
perfectly insuldted and has an emissivity ol € = Ol
Calculate the net radiant encrgy lost by the disk

maintained at 800°C, RGPVonline.com

Explain why the temperature boundary layer grows mutfb
more rapidly than the velocity boundary layer in liquid
metals, -

of 68 kg/min is heated from 35 10 75°C
having a specific heat of 1.9 kifkg °C. The fluids are
iva shell-and-tube exchanger with the water making
- oil making two tube passes and the

gerat 110°Cand leaves at 75°C. The
fer coefficient is 320 W/m?°C, Caleulite
er area. S
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